13

24

20

27

10

15

10

27

1000

25

1000

15

81

125

15

50

20

27

25

27

81

13

75

25

25

20

15

25

125

125

81

1000

1
81 8
2
27 9 )
1
25 3
2
6 25 6
1
63 5
3
9 4
1
4

13 25 20

e[S

15
75

15
20

| &

24

20

20

25

27

25

25

25

81

63

25

25

27

15

50

25

32

20

50

81

125

81

27

25

81

13

25

81

27

81

125

122

[a—y
oJ°°

M =

63
72

45
30

-



x| o
1
u]|'—

NlH
x| o0
1

| =

(14243+4+5+6+7+8+9)
C 0=81

%kg=] +500g

“—m=25cm
1
LI==shl
10
2c=77t
skg=Ng
2 0
3=12
2 1
F=F
6 0
25 =150
R
3 =9
24 3
=7
T 5

= from U=200

3 2
Ta=Vm
8 2
W =6
X _4
15—5
Y 3
15—5

1 Z
23=73

Guide

1. Find the value of each letter under which the
equation remains true.

2. Use the letters in the appropriate positions.
3. The resulting words connect with each other
and the flags by finding two identical fractions.
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